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1. Use Black Ballpoint Pen only for writing
particulars of this Question Booklet and
marking responses on the OMR
Answer Sheet.

2. This test is of 2 hours and 30 minutes
duration and consists of 150 MCQ-type
questions. Each question carries 1 mark.

3. There is no negative marking for any wrong
answer.

4. Rough work should be done only in the space
provided in the Question Booklet.

5. The answers are to be marked on the OMR
Answer Sheet only. Mark your responses
carefully since there is no chance of
alteration/correction.

6. Use of eraser or whitener is strictly
prohibited.

7. Candidates should note that each question is
given in bilingual form (English and Bengali).
In case of any discrepancy or confusion in the
medium/version, the English Version will be
treated as the authentic version.
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Direction : Answer the following questions
by selecting the correct option.

1.

3.
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Which one of the following is an
exception to the convention of
conservatism?

(A) Making provision to doubtful
debts in anticipation of actual
bad debtors

(B) Valuation of stock at market
price or cost price whichever is
higher

(C) Charging of small capital item
as revenue

(D) Adopting written-down value
method of depreciation as
against straight-line method

Which one of the following is correct
accounting equation?

(A) Asset = Owner’s equity

(B) Asset = Liabilities + Owner’s

equity

(C) Asset = Liabilities — Owner’s
equity

(D) Asset + Liabilities = Owner’s
equity

Which one of the following pairs is
not a perfect match?

(A) Suppression of invoice—Window
dressing

(B) Overcharging of depreciation—
Secret reserve

(C) Omission of cash receipts from
debtors—Understatement of
sales

(D) Omission of credit sales—
Understatement of debtors
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with respect to going concern
convention?

(A) The enterprise is not going to
terminate its operation in the
period ahead

(B) The enterprise may go out of
business in the next accounting
period

(C) The enterprise may not divert or
diversify its operational spheres

(D) The enterprise may not revalue
its asset during the current
accounting period

Which one of the following items is
considered as revenue expenditure?

(A) Expenditure by the way of
maintenance for increased
productivity

(B) Repair of a car engine for
enhancement of operational life

(C) Complete overhaul of a
machine, spending around 22%
of its value

(D) Changing a small component of
a machine to maintain its
operational efficiency

During shifting to their new
building, M/s XYZ Ltd. has spend
¥ 20,000 for pulling down the old
structure and ¥ 2,000 for shifting of
stock to mnew Dbuilding. These
expenditures are to be classified as

(A) capital expenditure
(B) revenue expenditure

(C) capital expenditure and revenue
expenditure respectively

(D) deferred revenue expenditure
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Preparation of Trial Balance helps
mainly in
(A) summarising business
transactions
(B) verifying that ‘GAAP’ has been
observed

(C) finalising the sources and uses
of fund’s statement

(D) locating errors, if any, in the
books of accounts

If

Opening stock = ¥ 2,45,000
Purchase = ¥ 15,00,000
Sales = ¥ 17,40,000

and the rate of gross profit = 20% on
cost of goods sold, then the closing
stock would be

(A) ¥ 3,53,000
(B) ¥2,95,000
(C) ¥ 2,45,000
(D) ¥ 1,95,000

Income earned but not yet received
is treated as

(A) asset
(B) liability

(C) loss

(D) capital

The capital of a firm is ¥ 80,000. The
reasonable return in the industry is
7-5%. If the profits earned by the
firm during last five years were
¢ 8,000, ¥ 9,000, ¥ 7,000, ¥ 8,500

and ¥ 10,000, then the superprofit
of the firm is

(A) ¥ 2,000
(B) ¥ 2,500
(C) ¥ 3,000
(D) ¥ 3,500

10.

GET IT ON
Google Play

@S W (GBS A= ¢ ?

(A) IRNRE ERMCTR AREREFA

(B) MGRTSIA  92re  fqmcEn e
“[Ifer 2caCR el vl

(C) TIT-9 T @R 2 A F1

(D) 2911 32-9q o1 IR F1

I AERE Age (SR %)
2,45,000 B, & 15,00,000 B,
{F 17,40,000 TR 2@ @R =P A1

% O BT OS-G9 20% W ©OIRCE
O G (GRIfeR 75F)-99 ol =T

(A) 3,53,000 BrFl
(B) 2,95,000 5=
(C) 2,45,000 B

(D) 1,95,000 Brpt

R 2R LS DTS A, ©ICF 60
() e

(B) W

(C) =Ffe

(D) w14

TR 80,000 G, 9B weR e
TMYFTe FCe] BE 7-5%. AWM M@ b
IME @ced A9 8,000, 9,000,

7,000, 8,500 €33 10,000 GBIl T @
AARART B3

(A) 2,000 Bl
(B) 2,500 il
(C) 3,000 B

(D) 3,500 Bl


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

11.

12.

13.

/21

A and B are the partners in a firm
sharing profit and losses in the ratio
of 2 : 3. C, a new partner is admitted
for 1/4th share. The new profit-
sharing ratio of A, B and C would be

A 1:1:1
B) 2:3:4
<) 1:2:2
(D) 6:9:5

Call option is

(A) a contract to buy a certain
number of shares at a stated
price within a specific period of
time

(B) a contract to sell certain
number of shares at a stated
price within a specific period of
time

(C) the option of issuing company to
demand the shareholders to pay
for partly paid shares

(D) the option available to the
convertible debenture holders to
demand equity shares in
conversion of debentures

Provisions are amounts set aside out
of profit and other surpluses for

(A) meeting a liability, the amount
which can be determined with
exact figure

(B) any known liability which the
amount cannot be determined
with substantial accuracy

(C) meeting an eventuality arising
out of revaluation of asset in
ordinary course of business

(D) meeting a liability arising out of
arbitration
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A trader does not keep a complete
set of books and gives the following
information :

Started business with & 10,000 on
1st June, 2014. Drawings @ ¥ 500
for the last six months. Further
capital introduced during the year
¥ 2,000. On 31st Dec, 2014, his
total asset was ¥ 23,700 and his
creditors were € 3,000 on the same
date. Outstanding expenses on that
date were ¥ 500.

His net profit during the year would

be

(A) 11,200
(B) € 11,500
(C) ¥ 13,000
(D) ¥ 14,200

Which of the following fixed assets is
not depreciated in the ordinary
circumstances?

(A) Plant and machinery
(B) Building

(C) Land

(D) Equipments

The purchase price of a software

that will be used for more than 12
months should be regarded as a/an

(A) revenue expenditure
(B) capital expenditure
(C) long-term expense

(D) accounting period expense

Cost of a fixed asset — Accumulated
depreciation expenses of the fixed
asset =

(A) Book value of the fixed asset

(B) Market value of the fixed asset
(C) Historical cost of the fixed asset
(D

) Recoverable amount of the fixed
asset
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Which of the following result in
unadjusted cash book balance?

(A) Outstanding cheque
(B) Unpresented cheque
(C) Deposit in transit

(D) Omission of bank charges

In the bank reconciliation
statement, ‘deposit in transit’ is
usually

(A) subtracted from bank balance
(B) added to bank balance
(C) added to cash book balance

(D) subtracted from cash book

balance

From the following adjusting double
entries, find the correct one for
prepaid expenses.

(A) Debit = Expenses, Credit =

Prepaid expenses

(B) Debit = Prepaid expenses, Credit
= Expenses

(C) Debit = Cash, Credit = Prepaid
expenses

(D) Debit = Expenses, Credit = Cash
Which of the following is a common
base for preparing a Trial Balance?
(A) Ledger Account

(B) General Journal

(C) Specialised Journal

(D) Balance Sheet
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When is the Trial Balance generally
prepared?

(A) Frequently during the year
(B) At the end of accounting period
(C) At the end of a month

(D) At the end of a year

Mention the correct sequence of
accounting process.

(A) Communicating — Recording —
Identifying

(B) Recording — Communicating —
Identifying

(C) Identifying — Recording —
Communicating

(D) Identifying — Communicating —
Recording

‘Equity’ means

(A) cash from the business

(B) liability of a business

(C) owner’s claim on total asset

(D) owner’s claim on total liabilities

What implies for double entry?
(A) Recording entries in journal

(B) Recording
account

entries in ledger

(C) Recording two aspects of every
transaction

(D) Recording every transaction in
books
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Find the nominal account from the
following.

(A) Machinery A/c

(B) Building A/c

(C) Creditors A/c

(D) Rent expenses A/c

The written agreement of partner-
ship is most commonly referred as
(A) agreement

(B) partnership deed

(C) partnership account

(D) partnership act

Which is the correct double entry for
realisation of profit at the time of
dissolution of partnership?

(A) Debit Realisation, Credit Bank
(B) Debit Bank, Credit Realisation

(C) Debit Realisation,
Partner’s Capital

Credit
(D) None of the above

What will happen if bad debt is not
recorded by a firm by mistake?

(A) Net profit would decrease

(B) Net profit would increase

(C) Gross profit would overstate

(D) Gross profit would understate
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Mr. Maniram, who holds 100 shares
of 10 each, fails to pay a final call of
¥ 2. The directors forfeited all the
shares and subsequently reissued
50 shares at ¥ 6 as fully paid. The
amount to be transferred to capital
reserve would be

(A) ¥ 200
(B) ¥ 300
(C) ¥ 400
(D) ¥ 800

XYZ Ltd. issues 3000, 15%
debentures of ¥ 100 each at a
discount of 7:3% repayable at a
premium of 5% at the end of 5 years.
The loss on issue of debentures will
be

(A) ¥22,500

(B) ¥ 30,000

(C) ¥37,500

(D) ¥ 45,000

Which of the following is not
prepared by non-profit organisation?
(A) Receipts and Payments A/c

(B) Income and Expenditure A/c
(C) Balance Sheet

(D) Income Statement

Identify the correct formula to

ascertain the closing balance of
capital.

(A) Opening capital + Net income —
Drawing - Asset = Closing
capital

(B) Closing capital = Opening
capital + Net loss — Drawing

(C) Closing capital = Opening
capital + Asset + Income -
Expense

(D) Closing capital = Opening

capital + Net income — Drawing

10
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The statement of financial position

produced from incomplete
accounting record is commonly
known as

(A) Balance Sheet

(B) cash-flow statement

(C) statement of affairs

(D) statement of financial position
An entry which is made on both
sides of a cash book is called

(A) cash entry

(B) contra entry

(C) payment entry

(D) compound entry

A company can reissue its forfeited
shares

(A) at a premium

(B) at a face value

(C) at a discount

(D) All of the above

Which of the following is not a
component of ‘SWOT™?

(A) Threats

(B) Strength

(C) Weakness

(D) Option
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Establishment expenses of a new
machine will be debited to

(A) Expenses A/c
(B) Profit and Loss A/c
(C) Machinery A/c

(D) None of the above

Goodwill is

floating asset

wasting asset

fictitious asset

intangible asset

Discount on issue of share A/c is
shown at the

(A) debit side of P&L A/c

(B) asset side of Balance Sheet

(C) liabilities side of Balance Sheet
(D) None of the above

What is reduction of paid-up capital
called?

(A) External reconstruction

(B) Internal reconstruction

(C) Reorganisation

(D) Redemption of capital
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New profit-sharing ratio is

calculated at the time of

(A) admission of a new partner
(B) retirement of a partner

(C) death of a partner

(D) All of the above

Consider the following :

‘Amortisation’ generally refers to
writing off the value of

1. tangible assets

2. intangible assets

3. fictitious assets

Which of the above is/are correct?
(A) 1 and 2

(B) 2 and 3

(C) 1 only

(D) 2 only

What is the method, in which an
amount equal to the amount written
off as depreciation is invested in
outside securities in order to
facilitate replacement of an asset at
the expiry of its life period, called?

(A) Annuity method

(B) Sinking fund method
(C) Replacement method
(D) Depletion method

‘Blue chip’ share means

(A) those shares which are listed in

stock exchange

(B) those shares whose guarantee is

given by government

those shares on whom dividend
is paid at higher rate regularly

those shares which are issued
first time
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Which one of the following is best
option to test long-term solvency?

(A) Liquidity ratio
(B) Debt-equity ratio
(C) Capital gearing ratio

(D) Rate of return

The simplest method of evaluating
capital expenditure project is

(A) internal rate of return method

(B) average rate of return method

(C) payback period method

(D) None of the above

The minimum sale below which a
project would not be recommended
is called

(A) profit point

(B) break-even point

(C) cut-off point

(D) None of the above

What is the accepted standard for
current ratio?

@A) 2:1
B) 1:2
€ 2: 3
D) 1:3
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Comparison of financial statements
highlights the trend of the of
business.

(A) financial position
(B) performance
(C) profitability
(D) All of the above

The term ‘current asset’ does not
cover

(A) car
(B) debtors
(C) stock

(D) prepaid expenses

Analysis of financial statement

comprises

(A) Balance Sheet
(B) P&L A/c

(C) Trading A/c
(D) All of the above

Which of the following statements
are true?

1. Financial statements are only
interim report.

2. Financial statements are also
known as annual report.

3. Financial statements

historic.

are

(A) Both 1 and 2
(B) Both 1 and 3
(C) Both 2 and 3
(D) All of the above
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Cash-flow statement is also known
as

(A) statement of changes in

financial position on cash basis

statement of accounting for
variation of cash

Both (A) and (B)

None of the above

Which of the following statements
is/are true?

1. Cash flow reveals
inflow of cash.

2. Cash flow reveals
outflow of cash.

only the

only the

3. Cash flow is a substitute of
income statement.

4. Cash-flow statement is not a
replacement of funds flow
statement.

Only 1
Only 2
Both 2 and 3
Only 4

(A)
(B)
©)
(D)

Provision for taxation is treated as
(A) current liability

(B) an appropriation of profit

(C) Either (A) or (B)

(D) None of the above

Statement of changes in working
capital is separately prepared in

(A) cash-flow statement
(B) funds flow statement
(C) Both (A) and (B)

(D) None of the above
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While preparing the cash-flow
statement, non-cash items and non-
operating items are not required to
be adjusted under

(A) indirect method
(B) direct method

(C) Both (A) and (B)
(D) None of the above

Which of the following are sources of
fund?

1. Issue of bonus share

2. Issue of  shares
purchase of fixed asset

against

3. Conversion of debentures into
shares

4. Conversion of loan into shares
(A) 1 and 3

(B) 1 and 4

C) 1, 2, 3 and 4

(D) None of the above

The Dbalance of fixed assets of
XYZ Ltd. at cost at the end of
2015 and 2016 were ¥ 5,70,800 and
¥ 6,15,300 respectively. During the
year 2016, a machinery costing
¥ 60,000 was sold. Determine
purchase of fixed assets.

(A) ¥ 1,04,500
(B) ¥ 1,40,500
(C) ¥ 1,64,500
(D) None of the above

Objective of cost accounting is to
(A) link the cost to cost centre

(B) link the cost to organisation to
ascertain total profit

(C) link the cost to production
department

(D) link the cost to
shareholders

individual
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In behavioural analysis, costs are
divided into

(A) production and non-production
costs

(B) controllable
lable costs

and non-control-

(C) direct and indirect costs

(D) fixed and variable costs

A costing method in which fixed
overheads are included in the cost of
inventory is

(A) wvariable costing

(B) direct costing

(C) absorption costing

(D) process costing

A system of single costing is used in
the case of

(A) motor workshop

(B) hotel

(C) brick-kiln

(D) oil mill

Factory cost does not include
(A) indirect manufacturing cost
(B) burden

(C) factory overheads

(D) office overheads
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Cost incurred in recruitment,
training and development of an
employee is known as

(A) replacement cost

(B) opportunity cost

(C) historical cost

(D) inputed cost

Which cost system applies to the

manufacture of 20 engraved doors
for a new clubhouse of a golf course?

(A) Contract

(B) Process

(C) Batch

(D) Service

During a period of rising prices,
which inventory pricing method will
result in lower current assets?

(A) LIFO

(B) FIFO

(C) Simple average method

(D) None of the above

If average cost is falling, then
(A) marginal cost is rising
(B) marginal cost is falling

(C) marginal cost is
average cost

equal to

(D) it is impossible to tell if marginal
cost is rising or falling
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In marginal costing, the following
are considered in contribution
computation.

(A) Selling price and variable cost
(B) P/V ratio and fixed cost

(C) Profit and fixed cost

(D) BEP and margin of safety
Closing stock ¢ 53,400, cost of
goods sold & 75,000, gross profit

¥ 5,000, purchase ¥ 82,000. What is
the amount of opening stock?

(A) ¥ 46,400

(B) ¥41,400

(C) ¥ 60,400

(D) ¥ 55,400

The excess of actual sale over break-
even sale is termed as

(A) contribution

(B) margin of safety

(C) fixed cost

(D) variable cost

When sale is € 3 lakh, fixed cost

¢ 30,000 and P/V ratio is 40%, then
the profit will be

(A) ¥ 1,50,000
(B) ¥ 1,20,000
(C) ¥ 80,000

(D) None of the above
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When fixed cost is ¥ 18,000, profit
earned is ¥ 12,000 and break-even
sale is ¥ 90,000, what is the actual
sale?

(A) ¥ 1,50,000
(B) ¥ 1,20,000
(C) ¥ 1,40,000
(D) None of the above

An increase in fixed cost will result
into

Z

decrease in P/V ratio

Y

increase in break-even level

decrease in per unit contribution

—_— e~ e
\_/:v

increase in P/V ratio

The major object of an audit is
(A) expression of opinion

(B) detection and prevention of
fraud and error

(C) Both (A) and (B)

(D) Depends on type of audit

Statement on standard auditing
practices (SAPs) are important while
discharging the audit function by a
member of ICAI in case of a
company, because SAPs are

(A) prescribed by ICAI

(B) contained in the

Act, 1956

Companies

(C) approved by the Department of
Company Affairs

(D) approved by the Central
Government in consultation
with Comptroller and Auditor
General
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A sale of ¥ 10,000 to Mr. Ram was
entered as a sale to Mr. Rahim. This
is an example of

(A) error of omission

(B) error of commission

(C) compensating error

(D) error of principle

Of the following, which is least
persuasive type of evidence?

(A) Bank statement obtained from
the client

(B) Documents obtained from the
third parties directly by the
auditor

(C) Carbon copies of sales invoice
inspected by the auditor

(D) Computation the

auditor

made by

Audit programme is prepared by
(A) the auditor
(B) the client

(C) the audit assistants

(D) the auditor and his audit
assistants
The auditor of a government

company is appointed by the CAG.
His remuneration is fixed by

(A) the CAG

(B) the shareholders

(C) the shareholders at an annual
general meeting

(D) the board of directors
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Internal control is totally synony-
mous with

(A) internal check
(B) internal audit
(C) operational control
(D) None of the above

“A company has a separate legal
existence from its members.” This
principle was first laid down in case
of

(A) Salomon vs. Salomon & Co. Ltd.
(1897)

(B) Daimler Co. Ltd. vs. Continental
Tyre and Rubber Co. (1916)

(C) State of UP wvs.
Power Co. (1991)

(D) Santanu Roy vs. Union of India
(1989)

Renu Sagar

The system of internal check

ensures that

(A) work is distributed among the
employees according to their
merit and qualification

(B) work is completed as per
prescribed schedule

(C) work  performed by  one
employee is automatically

checked by another employee

(D) work  performed by  one
employee is checked by internal
audit staff

What is the systematic evaluation of
a company’s activities in a given
area of social interest, such as
environmental protection, workplace
safety or community involvement,
called?

(A) Social responsibility
(B) Social accounting

(C) Social audit
(

D) Social forecasting
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In verification of assets, the duty of

the auditor is

(A) to ensure that the asset has
actually been acquired

(B) to ensure that they are clearly
stated in the Balance Sheet

(C) to satisfy himself that they are
properly valued

(D) to satisfy himself with regard to
the existence, ownership and
value of the asset

Which of the following statements is

true about management audit?

(A) Management audit is
compulsory and statutory.

(B) Management audit is a
programme of one year.

made

(C) Management audit cannot be
conducted by an independent
person.

(D) No time limit can be fixed for
submission of report under
management audit.

Which of the following statements
relating to audit programme is not
correct?

(A) The auditor cannot defend
himself on the basis of audit
programme if there is a charge
of negligence against him.

(B) It is useful basis for planning
the programme for the
subsequent year.

(C) It helps in the final review before
the report is signed.

(D) It simplifies the allocation of
work amongst the audit staff.

The following are categories of Audit
Reports, except

(A) qualified report
(B) unqualified report
(C) adverse report
(D) All of the above
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Management auditor should have
thorough knowledge of

(A) financial accounting
(B) production technique
(C) costing system

(D) All of the above

One of the advantages of
partnership form of organisation is
that

(A) all partners always have limited
liability
(B) shares can be sold at stock

market

(C) the business survives after the
death of the partners

(D) the business has access to more
capital than a sole trader

One of the disadvantages of sole
trader business is that

(A) capital is limited to owner’s
savings and bank loans

(B) decisions take too long to make

(C) as they are government owned,
there is no profit motive

(D) the owners may disagree in
different issues

Which of the following statements
best applies to a public limited
company?

(A) It is owned by the government
and is in the public sector.

(B) It is owned by shareholders who
can sell their shares in the stock
exchange.

(C) It is quick and easy to set up
with few legal formalities.

(D) Its accounts can be kept private.
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Which of the following does not form
part of an organisation’s micro-
environment?

(A) Intermediaries

(B) Customers

(C) Statute legislation

(D) Suppliers

The essential purpose of all business
organisations is to

(A) make maximum level of profit

(B) make a satisfactory level of
profit

(C) transform input to output
(D) be a good citizen
Ethical behaviour needs to be consi-

dered by business organisations
because

(A) the customer knows best and
organisation must always do
what customer wants

(B) customer may not always
appreciate the consequences of
their action

(C) there is always a legal
requirement to act ethically

(D) ethic is the same as law

Market that enables new issues of
equity to be traded is called

(A) primary market
(B) secondary market
(C) discount market

(D) All of the above
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Which of the following instruments
is used by the public directly to lend
the government?

(A) Bank deposit
(B) Public provident fund
(C) Treasury bill

(D) Certificate of deposit

Indigenous bankers are regulated by
(A) Reserve Bank of India

(B) Ministry of Finance

(C) Registrar of Cooperative
Societies
(D) None of the above

In commodity market, the option to
give delivery is given during a period
is identified as

(A) delivery period

(B) delivery notice period

(C) settlement period

(D) notice period

Market in which transactions are
done through computers and

telephone without any specific
location is classified as

(A) past-counter market
(B) future-counter market
(C) over-counter market

(D) capital-counter market
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Relaxing the restrictions and
controls imposed on business and
industry means

(A) liberalisation
(B) privatisation
(C) globalisation

(D) None of the above

The broad categories of business
activities are

(A) trade and commence
(B) trade and industry
(C) industry and commerce

(D) None of the above

Which of the following business risk
characteristics is not correct?

(A) Loss is the reward of risk
bearing

(B) Business risks due to

uncertainties

are

(C) Risk is an essential component
of every business

Degree of risks depends mainly
upon the nature and size of
business

activities
to trade.

Commerce includes
relating to trade and

(A) supporting
(B) subsidiaries
(C) auxiliaries

(D) None of the above
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“Management is the process of
getting things done through the
agency of a community.” This
definition is given by

(A) Sir Charles Renold
(B) Henri Fayol

(C) Lawrence A. Appley
(D) None of them

The first woman
management is

authority of

(A) Mary Parkett Follet
(B) Lillian Gilbreth

(C) T. N. White Head
(D) None of them

The concept of management and
administration is

B) different
C) partly same partly different

D) two sub factors of one main
function

CPM stands for
(A) Common Project Management
(B) Critical Path Method

(C) Critical Programming Method
(D) None of the above

Staffing function deals with

(A) machines

(B) raw materials
(C) men
(

D) None of the above
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In management practice, the
number of subordinates for whom a
manager is directly responsible is
called

(A) communication
(B) coordination
(C) leadership

(D) span of control

In strategic human  resource
management, HR strategies are
generally aligned with

(A) business strategy

(B) finance strategy

(C) marketing strategy

(D) economic strategy

Which of the following is not a
personal benefit?

(A) Sick leave

(B) Flex benefit

(C) Sales bonus

(D) Dental plan

Which of the following is a
percentage on the volume of sale?

(A) Profit sharing
(B) Piecework
(C) Commission

(D) Bonus
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What is the full form of CRM?
(A) Customer Relationship
Management
(B) Customer Resource
Management
(C) Consumer Relationship
Management
(D) None of the above
Which of the following is a
marketing advantage of strong
brand?
(A) General loyalty
(B) Larger margin
(C) Greater financial market
returns
(D) All of the above
First step to cost-based pricing
strategy is to
(A) design a product
(B) determine cost of product
(C) set price based on cost
(D) convince buyer about products
value
Financial management closely
relates to
(A) asset side of the Balance Sheet
(B) liabilities side of the Balance
Sheet
(C) both sides of the Balance Sheet
(D) None of the above
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A company purchases goods but
does not pay supplier immediately
and record them as

(A) accounts payable
(B) accounts receivable
(C) current liabilities

(D) accumulated liabilities

In Balance Sheet, sum of retained
earnings and common stocks are
considered as

(A) preferred equity

(B) due equity

(C) common perpetuity

(D) common equity

Albert invested an amount of
¥ 8,000 in a fixed deposit for 2 years
at compound interest of 5% p.a.

How much Albert will get on the
maturity of the fixed deposit?

(A) ¥ 8,510
(B) ¥ 8,600
(C) ¥ 8,730
(D) ¥ 8,820
Find the simple interest on ¥ 2,000

at 27?% p.a. for the period 4th Feb,
2005 to 18th April, 2005.

(A) T 25
(B) ¥ 30
(C) ¥ 35

(D) ¥ 40
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If x, 2y, 3z are in arithmetic
progression, where the distinct
numbers x, y, z are in geometric
progression (GP), then the common
ratio of GP is

(A) 3

(B) 1/3

€ 2

(D) 1/2

A statistical measure which cannot
be determined graphically is

(A) median

(B) mode

(C) harmonic mean (HM)

(D) arithmetic mean (AM)

A group of 10 items has an
arithmetic mean of 6. If the
arithmetic mean of 4 of these items
is 75, then the mean of the
remaining items is

(A) 65

B) 55

C) 45

(D) 50

Variance is independent of the
change of

(A) origin only

(B) scale only

(C) both origin and scale

(D) None of the above
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Which of the following measures is
one of central tendency?

(A) Mode

(B) Mean deviation

(C) Standard deviation

(D) Coefficient of correlation

Index numbers are expressed in
terms of

(A) ratio

(B) squares

(C) percentages

(D) combination of the above

The most suitable average in chain-
based method is

(A) arithmetic mean

(B) median

(C) mode

(D) geometric mean

If the mean of a set of observations
X1, Xo,-, X, is X, then the mean
of the observation x; +2; (i=1,2,---, n)
is

A) X+2

(B) X+2n

(C) X+((n+1

D) X+n

The correlation between X and a— X
is

A) -1

(B) 1

(€ 1/2

(D) O
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At different points of indifference
curve, utility is

=

different

same

e

ZE€ro

P —
~—

S

None of the above

For inferior goods, demand curve
(A) slopes upward from left to right

(B) slopes downward from left to
right

(C) is a circle

(D) None of the above

By elasticity of demand it is

generally meant

(A) cross-elasticity
(B) price elasticity
(C) income elasticity

(D) None of the above

Nature of elasticity of demand for
tobacco and share price is

A) different

o 2z

opposite

Q

) same

P —

D) None of the above

Isoquant is a form of production
function.

(A) It is false

(B) It is true

(C) It is not related
(

D) None of the above
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When  average
marginal product

product rises,

(A) equals average product

(B) rises but
product

less than average

(C) falls

(D) rises but more than average
product

Short-run and long-run cost curves
(A) are same

(B) are opposite

(C) intersect each other

(D) None of the above

Variable cost can be observed in the
(A) short run

(B) long run

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Price is given for a firm in

(A) monopoly market

(B) oligopoly market

(C) perfect competition market

(D) None of the above

Markets for toothpastes and toilet
soap are examples of

(A) perfect competition
(B) monopoly
(C) monopolistic competition

(D) None of the above
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Labour market is considered to be
an example of

(A) monopoly

(B) monopsony

(C) oligopoly

(D) None of the above

Rent is regarded as a payment for
the use of

(A) labour
(B) capital
(C) organisation

(D) None of the above

Gross domestic product can be
measured by adding a country’s

(A) production
(B) expenditure
(C) income

(D) All of the above

Value of marginal propensity to
consume

(A) lies between zero and one
(B) lies between one and two
(C) lies between zero and two
(D) None of the above

For an autonomous investment
function, investment depends

(A) directly with income

(B) inversely with income

(C) directly with rate of interest
(

D) None of the above
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